
 
 
Examining this challenge, it is not as trivial as examining the factors of 48. 
 
I am speculating that upon performing   1 / n, it is subtracted from the source: 
 
43/48 -  1/2(24/48)           =19/48 
 
19/48 -  1/3(16/48) =  3/48(1/16) 
 
We now can stop since remainder has  1 in numerator 
ANSWER:  ½ + 1/3 + 1/16 
 
 
I will try to use the same principles for   6/14 
½ (7/14) is too big.  (We would simply ascertain this performing  6/14 – 7/14  <0) 
1/3 is ok  (6/14  -  1/3  >0)  =    18 - 14/42   =  4/42.          4/42 is the remainder. 
¼ is too big for  (4/42 – ¼ <0) 
1/5 is too big   (4/42 – 1/5<0) 
1/6 is too big (4/42 – 1/6<0)  



1/7 is too big 
1/8 is too big 
1/9 is too big 
1/10 is too big 
1/11 is  ok   (4/42 – 1/11)  =    44/462   -    42/462   =   2/462  =    1/231 
 
We now can stop since remainder has  1 in numerator 
ANSWER:  1/3 + 1/11 +  1/231 
 
ANSWER:  1/3 + 1/11 + 1/231 
 
I consider this to be a decent learning curve challenge. But it is not something I 
wish to code. 
 
In terms of reaching limitations, it will arise from numerator and denominator 
sizes.. 


